

$$(1) \int_0^{\frac{\pi}{4}} \frac{dx}{\cos x} = \int_0^{\frac{\pi}{4}} \frac{\cos x}{\cos^2 x} dx$$

$$= \int_0^{\frac{\pi}{4}} \frac{\cos x}{1 - \sin^2 x} dx$$

$$\therefore \quad t = \sin x \quad \text{と置くと} \quad dt = \cos x \cdot dx$$

x	0	$\dots$	$\frac{\pi}{4}$	
t	0	$\dots$	$\frac{1}{\sqrt{2}}$	と

$$(5式) = \int_0^{\frac{1}{\sqrt{2}}} \frac{1}{1-t^2} dt$$

$$= \int_0^{\frac{1}{\sqrt{2}}} \frac{1}{2} \left(\frac{1}{1-t} + \frac{1}{1+t} \right) dt$$

$$= \frac{1}{2} [-\log |1-t| + \log |1+t|]_0^{\frac{1}{\sqrt{2}}}$$

$$= \frac{1}{2} \left[\log \left| \frac{1+t}{1-t} \right| \right]_0^{\frac{1}{\sqrt{2}}}$$

$$= \frac{1}{2} \log \left| \frac{1 + \frac{\sqrt{2}}{2}}{1 - \frac{\sqrt{2}}{2}} \right|$$

$$= \frac{1}{2} \log \left| \frac{2 + \sqrt{2}}{2 - \sqrt{2}} \right|$$

$$= \frac{1}{2} \log \frac{(2 + \sqrt{2})^2}{2}$$

$$= \log \frac{2 + \sqrt{2}}{\sqrt{2}}$$

$$= \boxed{\log (\sqrt{2} + 1)}$$

$$(2) \int_0^{\frac{\pi}{4}} \frac{dx}{\cos^3 x} = \int_0^{\frac{\pi}{4}} \frac{\cos x}{\cos^4 x} dx = \int_0^{\frac{\pi}{4}} \frac{\cos x \cdot dx}{(1-\sin^2 x)^2}$$

$$\therefore \text{よ} \quad t = \sin x \text{ とおくと } dt = \cos x \cdot dx, \quad \begin{array}{c|c} x & 0 \cdots \frac{\pi}{4} \\ \hline t & 0 \cdots \frac{1}{\sqrt{2}} \end{array} \text{ よ}$$

$$(\text{与式}) = \int_0^{\frac{1}{\sqrt{2}}} \frac{1}{(1-t^2)^2} dt$$

$$\therefore \text{よ} \quad \frac{1}{(1-t^2)^2} = \frac{1}{(1+t)^2(1-t)^2} = \frac{A}{(1+t)^2} + \frac{B}{(1-t)^2} + \frac{C}{1+t} + \frac{D}{1-t} \text{ とおくと}$$

$$\frac{1}{(1-t^2)^2} = \frac{A(1-t)^2 + B(1+t)^2 + C(1+t)(1-t)^2 + D(1+t)^2(1-t)}{(1+t)^2(1-t)^2} \quad \text{よ}$$

分子部分だけみると

$$1 = A(t^2 - 2t + 1) + B(t^2 + 2t + 1) + C(1+t)(1-2t+t^2) + D(1-t)(1+2t+t^2) \quad \text{よ}$$

$$1 = (C-D)t^3 + (A+B-C-D)t^2 + (-2A+2B-C+D)t + (A+B+C+D)$$

$$\therefore \begin{cases} C-D=0 & \text{--- ①} \\ A+B-C-D=0 & \text{--- ②} \\ -2A+2B-C+D=0 & \text{--- ③} \\ A+B+C+D=1 & \text{--- ④} \end{cases} \quad \text{かゝりあう}$$

$$\text{④}-\text{②} \text{ よ} \quad 2C+2D=1 \quad \text{よ} \quad \text{①} \text{ よ} \quad C=D \text{ である}$$

$$2C+2C=1 \text{ よ} \quad C=D=\frac{1}{4}$$

$$\therefore \text{よ} \quad \text{③} \text{ は } -2A+2B-C+C=0 \text{ よ} \quad A=B \text{ である}$$

$$\text{④}+\text{②} \text{ よ} \quad 2A+2B=1 \text{ よ} \quad 2A+2A=1 \text{ から } A=B=\frac{1}{4}$$

$$\text{よ} \quad \int_0^{\frac{\pi}{4}} \frac{dx}{\cos^3 x} = \int_0^{\frac{1}{\sqrt{2}}} \frac{1}{4} \left\{ \frac{1}{(1+t)^2} + \frac{1}{(1-t)^2} + \frac{1}{1+t} + \frac{1}{1-t} \right\} dt$$

$$= \frac{1}{4} \left[-\frac{1}{1+t} + \frac{1}{1-t} + \log|1+t| - \log|1-t| \right]_0^{\frac{1}{\sqrt{2}}}$$

$$= \frac{1}{4} \left[\frac{2t}{1-t^2} + \log \left| \frac{1+t}{1-t} \right| \right]_0^{\frac{1}{\sqrt{2}}}$$

$$= \frac{1}{4} \left(\frac{2 \times \frac{1}{\sqrt{2}}}{1-\frac{1}{2}} + \log \left| \frac{1+\frac{1}{\sqrt{2}}}{1-\frac{1}{\sqrt{2}}} \right| \right)$$

$$= \frac{1}{4} \left(2\sqrt{2} + \log \frac{\sqrt{2}+1}{\sqrt{2}-1} \right)$$

$$= \frac{1}{4} \{ 2\sqrt{2} + \log(\sqrt{2}+1)^2 \}$$

$$= \frac{1}{4} \{ 2\sqrt{2} + 2\log(\sqrt{2}+1) \} = \boxed{\frac{1}{2} \{ \sqrt{2} + \log(\sqrt{2}+1) \}}$$

$$(3) \int_0^1 \sqrt{x^2+1} \, dx$$

$$x = \tan \theta \text{ とおくと } dx = \frac{d\theta}{\cos^2 \theta}$$

よ、7 (2) の結果もつかうと

$$\begin{array}{c|ccc} x & 0 & \cdots & 1 \\ \theta & 0 & \cdots & \frac{\pi}{4} \end{array}$$

$$(\text{与式}) = \int_0^{\frac{\pi}{4}} \sqrt{1+\tan^2 \theta} \cdot \frac{d\theta}{\cos^2 \theta}$$

$$= \int_0^{\frac{\pi}{4}} \frac{d\theta}{\cos^3 \theta} = \left[\frac{\sqrt{2}}{2} + \frac{1}{2} \log(\sqrt{2}+1) \right]$$

(81) 67

$$\int \frac{1}{\cos x} dx$$

1=717

$$\cos^2 x = 1 - \sin^2 x$$

$$\cos^2 x = (1 + \sin x)(1 - \sin x)$$

$$\text{よって} \quad \frac{\cos x}{1 + \sin x} = \frac{1 - \sin x}{\cos x} \quad (*)$$

$$\frac{\cos x}{1 + \sin x} + \frac{\sin x}{\cos x} = \frac{1}{\cos x}$$

$$\begin{aligned} \text{よって} \quad \int \frac{1}{\cos x} dx &= \int \left(\frac{\cos x}{1 + \sin x} + \frac{\sin x}{\cos x} \right) dx \\ &= \log |1 + \sin x| - \log |\cos x| + C \\ &= \log \left| \frac{1 + \sin x}{\cos x} \right| + C \quad (C \text{ は定数}) \end{aligned}$$

$$\int \frac{1}{\cos^3 x} dx$$

1=717

$$I = \int \frac{dx}{\cos^3 x} \quad \text{とおく}$$

$$\begin{aligned} I &= \int \frac{1}{\cos^2 x} \cdot \frac{1}{\cos x} dx \\ &= \int (\tan x)' \cdot \frac{1}{\cos x} dx \\ &= \tan x \cdot \frac{1}{\cos x} - \int (\tan x) \cdot \left(-\frac{-\sin x}{\cos^2 x} \right) dx \\ &= \frac{\sin x}{\cos^2 x} - \int \frac{\sin^2 x}{\cos^3 x} dx \\ &= \frac{\sin x}{\cos^2 x} - \int \frac{1 - \cos^2 x}{\cos^3 x} dx \\ &= \frac{\sin x}{\cos^2 x} - \int \frac{dx}{\cos^3 x} + \int \frac{dx}{\cos x} \end{aligned}$$

$$\text{よって} \quad I = \frac{\sin x}{\cos^2 x} - I + \log \left| \frac{1 + \sin x}{\cos x} \right| + C' \quad \text{よって} \quad [C' \text{ は定数}]$$

$$2I = \frac{\sin x}{\cos^2 x} + \log \left| \frac{1 + \sin x}{\cos x} \right| + C'$$

$$\text{ゆえに} \quad I = \int \frac{dx}{\cos^3 x} = \frac{1}{2} \cdot \frac{\sin x}{\cos^2 x} + \frac{1}{2} \log \left| \frac{1 + \sin x}{\cos x} \right| + C \quad (C \text{ は定数})$$

$$\left(\begin{aligned} \frac{1}{2} \log \left| \frac{1 + \sin x}{\cos x} \right| \text{ の項は } \frac{1}{2} \log \left| \frac{1 + \sin x}{\cos x} \right| &= \frac{1}{4} \log \frac{(1 + \sin x)^2}{\cos^2 x} \\ &= \frac{1}{4} \log \frac{(1 + \sin x)^2}{(1 - \sin x)(1 + \sin x)} \\ &= \frac{1}{4} \log \frac{1 + \sin x}{1 - \sin x} \quad \text{なお } x \text{ の } 2 \text{ 倍は } x \text{ の } 2 \text{ 倍 } \end{aligned} \right)$$